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AVHaMMNKA YUCNIeHHOCTU OTANYHUKOB 3a 2010-2011 yuebHbiii rog

0
2a 26 33 36 4a 46 5a 5g 56 6a 6r 7a 8a 86 9a 96 10a |"TOTOMO
wKone
B inonyrogme % | 8 31 11 4 22 12 5 0 20 0 0 0 0 5 5 7
®roa% 15 35 11 11 27 4 5 0 20 0 0 0 0 5 20 9




Utorn ycnesaemoctun 2010-2011 yuebHbIM roa.
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noKasartesb
no wkone
B % ycneBaemocTu 100 100 100 100 100 100 100 100 100 100
B % kavecTBa 52 59 60 52 41 34 23 37 23 45
B oTANYHUKHM 25 11 19 9 0 0 2 7 4 9
B xopowucTbl 27 48 41 43 41 34 21 30 19 36
H copHon "3" 4 9 6 9 8 0 0 0 19 6
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AnHamuKa utoros ycnesaemocTtu 3a 2010-2011 yuebHbil rog,.
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